
Trusses ( ZD planar )

Criteria :  1) consist  of  weightless  uniaxial elements  with arbitrary angular  orientation

and interconnected with frictionless pins ( No  moment )

2) subjected to loads  only at joints ( No Pf )
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September 10, 2024
Matrix Displacement Method
2D Trusses
Part I - Local/Global



From  superposition { p }=[ s ] { d }
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**

Difference  in [ S ] comes from member . level

Notation

{ p }= [ s ]{ d } structural . level ( always global )
force  stiffness  displacement

× ,y
{ Q }=[ K ]{ in } member . level ( local )

x. Y { F }= [ K ]{ v } member .
level ( global )
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Q4.my/Q3.M3{ a }= [ K ]{ in } member . level ( local ) \
e

How  do  we  determine [ K ]
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Using same procedure for Us  and My L
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Local vs
.

Global
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We  need to  write Qs  in terms of FS
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member . level global stiffness  matrix




